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Table 1 Test Result
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Test case Input specification Output specification Pass/ Fail
Identifier
PTS.STC.000.000 | (HA) =23 A3l (HA)0| 23, EFE(0) SFXHD) P
PTS.STC.000.001 | (X|ot&E)==2 124 AlH X|sHE) 0|52 = P
PTS.STC.000.002 | (HAh==Z2 0= AWM 3E (AHAh P
PTS.STC.000.003 | (Zx7|shmZ 0z Al (E7|=h=7|zH P
PTS.STC.100.000 | (AFE At Ef) O|E(X|ZX), XEZHF | (A|EXHEfD)Inout:n, Transportaion n, | P
O balance : 999999, Ef& (0) SAFQ) : 0
PTS.STC..100.001 | (AFE2XIEf) 0|2 (A XHE )Inout::user info.In_out, | P
Transportaion : user Info.transportaition
balance : 999999, Ef& (0) SAFQ) : 0
PTS.STC.101.000 | (&3IXHEF)0, ABIAEE) S Al p
PTS.STC.101.001 | (Z8HAHER)1 SERER) BFR A p
PTS.STC.102.000 | (5%H0, %I} IN, AlZt : 00:00, 24 : 999999 ZtoH : | P
999999
PTS.STC.102.001 | (5%}HO0, user info.balance<500 ﬁI} QE0| BE=s19 SX1& 4= Q&L CHN | P
PTS.STC.102.002 | (5%}0, user info.balance<1050 =X 20| BE=38l0 &xtgt = gl&LcH!l | P
PTS.STC.102.003 | (5%}0, user info.balance<1650 S 230| 25510 X+ 5= gi&LcH | P
PTS.STC.102.004 | (5%})0, user info.balance<1750 =X 20| BE=38l0 Xt = gl&LcH!l | P
PTS.STC.102.005 | (5%H0, user info.balance<1250 (X 20| £l &Xpgt = gigLcHI | P
PTS.STC.102.006 | (£X}0, user info.balance>=500 (ZXH IN, A|Zt : 00:00, = : Q0 ZteH : 999999 | P
PTS.STC.102.007 | (£%H0, user info.balance>=1050 (ZXh IN, A|ZF : 00:00, 2 : 1050 Xt : | P

999999
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PTS.STC.102.008 | (5*}H0, user info.balance>=1650 (ZXhH IN, AJZb : 00:00, 2 : 1650 ZhoH P
999999

PTS.STC.102.009 | (5%*H0, user info.balance>=1750 (ZXhH IN, A]ZF : 00:00, 2 : 1750 e P
999999

PTS.STC.102.010 | (£%XhH0, user info.balance>=1250 (ZXH IN, A|ZF : 00:00, 2 : 1250 ~tcH | P
999999

PTS.STC.103.000 | (8}XP1, user info, current info (SFXH OUT, A|ZF : 00:00, =4 : 999999 ZtoH - | P
999999

PTS.STC.104.000 | (x7|3}), secTime = 3:00 (E£7|=h x=7|3H P

PTS.STC.200.000 | (AF2At Ef) O|E(X|=x), XZEZSH™F | (AFEXL Ef)Transport :n inout :n balance : | P

ot 999999, &5 (0) SHXHI)

PTS.STC.200.001 | (AFEXIEf) O|E (AFE Xt Ef)TAG TIME 00 : 00, ====user | P
information====, lasttagtime : 00 : 00
transport : METRO input : BOARD, balance:
999999, terminal : X_9, Er=(0) SHXHI)

PTS.STC.201.000 | (&5SHAHEX)0 SRR R) X Al P

PTS.STC.201.001 | (&5}AtE=)1 (ESHXIER) P A Pp

PTS.STC.202.000 | (5#H0, (EAhti(b), Z2d© ME() SHE), SGAH| P
(f)

PTS.STC.202.001 | (5%hb, (5ANZACH, 9999¥, At ni~~ P

PTS.STC.202.002 | (Z%b)c, (BEAHLE 9999%, SAt na~~ P

PTS.STC.202.003 | (5%hd, (BEADAIE 99998, SAt D a~~ P

PTS.STC.202.004 | (%t (EAhHE ™, 99998, £X Ia~~ P

PTS.STC.202.005 | (ZAbf, (BXHSHAL 999981, X D ~~ Pp

PTS.STC.202.000 | (&%h) b|c|delf, user | (EAHR 20| BEFs|A KA £ g&LICH! | p
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info.balance<Currentino..balance +

p600
PTS.STC.202.001 | (p&X}) b|c|delf, user | (2XHRZ0| EZSHA SXISHA £ Q&L|CHI | P
info.balance<Currentino..balance +
200
PTS.STC.202.002 | (&%} b|c|delf, user | (EXHQ 20| EZ|A SXSHA = Ql&LCHI | P
info.balance <Currentino..balance +
700
PTS.STC.202.003 | (5%} bjc|de|f, user info.balance>= | (EXHH0|E 9999¢%, &XI D1 ~~ P
Currentino..balance + 600
PTS.STC.202.004 | (&%h b|c|def user | (EXHEO0|Z, 99998, &K D ~~ P
info.balance>=Currentino..balance
+200
PTS.STC.202.005 | (X} bjc|delf, user info.balance>= | (EXHG0|E, 99992, £X D a~~ P
Currentino..balance + 700
PTS.STC.203.000 | (8}*h1 GHh T (b), ZE () AE(d) 2E(e), sHAH|P
(f)
PTS.STC.203.001 | (S}Xh)b, (SFAH ALY, SHAFA| =72 & : 999999 P
PTS.STC.203.002 | (3}Ah)c, (SHAhZ S SFRFA] =712 F 1 9999992 P
PTS.STC.203.003 | (S}Xhd, (SFRHAIE! SFRIA] FE7FR2F : 999999 Pp
PTS.STC.203.004 | (StXhe, (SFRHEHE, SHAFAl F=7F2F : 999999% P
PTS.STC.203.005 | (S}AHf, (SHAHS AL SFAFA| =712 2 1 99999< P
PTS,STC,204.000 | (Z7|3}), secTime = 3:00 (E£7|=h x=7|3H P
PTS,STC,300.000 | (™4 secTime = 3:00 (HAH nEHmY : Lt = 00: 00 p
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N : fee = 99999
n|HHAY : terminal = a|b|c|d|e|f_n

PTS,STC,300.001

(F&)nERY : Lt = 00:00
n#HRY :tr = 0|1

nHW : fee = 99999
nEH R

i : terminal = alb|c|d|e|f_n

(F %) busCompany.txt, subwayCompany
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